KRAGUJEVAC JOURNAL OF MATHEMATICS VOLUME 46(5) (2022), PAGES 815–832.

RIGHT AND LEFT MAPPINGS IN EQUALITY ALGEBRAS

MONA AALY KOLOGANI¹, MOHAMMAD MOHSENI TAKALLO², RAJAB ALI BORZOOEI³, AND YOUNG BAE JUN⁴

ABSTRACT. The notion of (right) left mapping on equality algebras is introduced, and related properties are investigated. In order for the kernel of (right) left mapping to be filter, we investigate what conditions are required. Relations between left mapping and \rightarrow -endomorphism are investigated. Using left mapping and \rightarrow -endomorphism, a characterization of positive implicative equality algebra is established. By using the notion of left mapping, we define \rightarrow -endomorphism and prove that the set of all \rightarrow -endomorphisms on equality algebra is a commutative semigroup with zero element. Also, we show that the set of all right mappings on positive implicative equality algebra makes a dual BCK-algebra.

1. INTRODUCTION

Non-classical logic has become a considerable formal tool for computer science and artificial intelligence to deal with fuzzy information and uncertainty information. Many-valued logic, a great extension and development of classical logic, has always been a crucial direction in non-classical logic. A crucial question for every manyvalued logic is, what should be structure of its truth values. It is generally accepted that in fuzzy logic, it should be a residuated lattice, possibly fulfilling some additional properties. On the basis of that, we may now distinguish various kinds of formal fuzzy logics. Most important among them seem to be BL-logics, MTL-logics and IMTL-logics. The answer to the above question is positive and the fuzzy type theory (FTT) has indeed been introduced in [12]. However, the basic connective in FTT is a fuzzy equality since it is developed as a generalization of the elegant classical

Key words and phrases. Equality algebra, &-equality algebra, positive implicative equality algebra, filter, left mapping, right mapping.

²⁰¹⁰ Mathematics Subject Classification. Primary: 03G25. Secondary: 06B10, 06B99. DOI 10.46793/KgJMat2205.815K

Received: January 31, 2020.

Accepted: April 11, 2020.

formal system originated by Henkin (see [5]). So Novák in [13] introduced a special algebra so called EQ-algebra and that reflects directly the syntax of FTT. Viewing the axioms of EQ-algebras with a purely algebraic eye it appears that unlike in the case of residuated lattices where the adjointness condition ties product with implication, the product in EQ-algebras is quite loosely related to the other connectives. For instance, a moment's reflection shows that one can replace the product of an EQ-algebra by any other binary operation which is smaller or equal than the original product (viewed as a two-place function) and still obtains an EQ-algebra. However, the huge freedom in choosing the product might prohibit to find deep related algebraic results, hence our aim was to find something similar to EQ-algebras but without a product: an axiomatic treatment of equality/equivalence. Because of that Jenei in [9] introduced a new structure, called equality algebras. It has two connectives, a meet operation and an equivalence, and a constant 1.

Left and right mappings are very important concepts and mathematicians have used them in various mathematical fields. For example, Kondo [11] introduced the notion of left mapping on BCK-algebras and investigated some properties of it. He showed that in a positive implicative BCK-algebra, if a left map is surjective, then it is also an injective one. Borzooei and Aaly [2], introduced left and right stabilizers by using a fixed point sets of right and left mappings. They investigated that under which conditions these sets can be equal. Also, by using the (right) left stabilizers, produced a basis for a topology on hoops and showed that the generated topology by this basis is Baire, connected, locally connected and separable. Moreover, Hail, Abu baker and Mohd [4], by using the notion of (right) left mapping defined different kinds of derivation on BCK/BCI-algebras. The notion of derivation and extended of that are introduced on different kinds of logical algebras such as UP-algebras, MV-algebras and etc. In UP-algebras, Iampan in [6] proved that the fixed point set and the kernel of left derivation are UP-subalgebras and investigated under which condition they can be an ideal or filter. Kamali in [10], extended the notion of derivation on MV-algebras by using left and right mappings and investigate some properties of them.

Now, in this paper, we introduce the concept of (right) left mapping on equality algebras and investigate several properties. Then by using of left and right mapping on equality algebras, we construct a commutative monoid, a commutative semigroup with zero element and a dual BCK-algebra.

2. Preliminaries

In this section, we recollect some definitions and results which will be used in the next sections.

Definition 2.1 ([8]). By an *equality algebra*, we mean an algebra $(X, \land, \sim, 1)$ satisfying the following conditions:

(E1) $(X, \wedge, 1)$ is a commutative idempotent integral monoid (i.e., meet semilattice with the top element 1);

(E2) The operation " \sim " is commutative; (E3) $(\forall a \in X)(a \sim a = 1);$ (E4) $(\forall a \in X)(a \sim 1 = a);$ (E5) $(\forall a, b, c \in X)(a \le b \le c \Rightarrow a \sim c \le b \sim c, a \sim c \le a \sim b);$ (E6) $(\forall a, b, c \in X)(a \sim b \leq (a \land c) \sim (b \land c));$ (E7) $(\forall a, b, c \in X)(a \sim b \leq (a \sim c) \sim (b \sim c)),$

where $a \leq b$ if and only if $a \wedge b = a$. The equality algebra $(X, \wedge, \sim, 1)$ is simply denoted by X only.

In an equality algebra $(X, \wedge, \sim, 1)$, we define two operations " \rightarrow " and " \leftrightarrow " on X as follows:

$$a \to b := a \sim (a \land b),$$

$$a \leftrightarrow b := (a \to b) \land (b \to a)$$

Proposition 2.1 ([8]). Let $(X, \land, \sim, 1)$ be an equality algebra. Then for all $a, b, c \in X$, the following assertions are valid:

(2.1)
$$\begin{aligned} a \to b = 1 \Leftrightarrow a \le b, \\ a \to (b \to c) = b \to (a \to c), \end{aligned}$$

(2.2)
$$1 \to a = a, \quad a \to 1 = 1, \quad a \to a = 1,$$

$$a \le b \to c \Leftrightarrow b \le a \to c,$$

$$(2.3) a \le b \to a,$$

$$(2.4) a \le (a \to b) \to b,$$

$$(2.5) b \le (b \to c) \to (a \to c)$$

(2.5)
$$a \to b \le (b \to c) \to (a \to c),$$

$$b \le a \Rightarrow a \leftrightarrow b = a \rightarrow b = a \sim b,$$

$$a \sim b \le a \leftrightarrow b \le a \rightarrow b,$$

(2.6)
$$a \le b \Rightarrow \begin{cases} b \to c \le a \to c, \\ c \to a \le c \to b, \end{cases}$$

(2.7)
$$((a \to b) \to b) \to b = a \to b.$$

An equality algebra X is said to be *bounded* if there exists an element $0 \in X$ such that $0 \leq a$ for all $a \in X$. In a bounded equality algebra X, we define the negation "¬" on X by $\neg a = a \rightarrow 0 = a \sim 0$ for all $a \in X$.

A subset A of X is called a *deductive system* (or *filter*) of X (see [9]) if it satisfies

(2.8)
$$1 \in A,$$
$$(\forall a, b \in X)(a \in A, a \le b \implies b \in A),$$
$$(\forall a, b \in X)(a \in A, a \sim b \in A \implies b \in A).$$

Denote by $\mathcal{DS}(X)$ the set of all deductive systems of X.

Lemma 2.1 ([7]). Let X be an equality algebra. A subset A of X is a deductive system of X if and only if it satisfies (2.8) and

 $(\forall a, b \in X)(a \in A, a \to b \in A \Rightarrow b \in A).$

Definition 2.2 ([14]). An equality algebra X is said to be *commutative* if it satisfies:

 $(\forall x, y \in X)((x \to y) \to y = (y \to x) \to x).$

Definition 2.3 ([1]). Given an equality algebra $(X, \land, \sim, 1)$ and $a, b \in X$, we define

$$X(a,b) := \{ x \in X \mid a \le b \to x \}.$$

It is clear that 1, a and b are contained in X(a, b).

Definition 2.4 ([1]). An equality algebra $(X, \land, \sim, 1)$ is called an &-equality algebra if for all $a, b \in X$, the set X(a, b) has the least element which is denoted by $a \odot b$.

Proposition 2.2 ([1]). If $X = (X, \wedge, \sim, 1)$ is an &-equality algebra, then

$$(\forall a, b \in X)(a \odot b = b \odot a), (\forall a, b, c \in X)((a \odot b) \odot c = a \odot (b \odot c)), (\forall a, b, c \in X)(a \le b \Rightarrow a \odot c \le b \odot c).$$

Lemma 2.2 ([1]). Let $X = (X, \land, \sim, 1)$ be an equality algebra in which there exists a binary operation " \odot " such that

 $(\forall a, b, c \in X)(a \to (b \to c) = (a \odot b) \to c).$

Then $\mathfrak{X} = (X, \wedge, \sim, 1)$ is an &-equality algebra.

3. Left Mappings

In this section, we define the notion of left mapping on equality algebra and investigate some properties of it. Moreover, we define the notions of \rightarrow -homomorphism, positive implicative and &-equality algebras and study the relation among them.

Definition 3.1. Given a fixed element a in an equality algebra X, we define a self-mapping f_a of X by

$$f_a: X \to X, \quad x \mapsto a \to x,$$

and we say that f_a is a *left mapping* on X.

Let $\mathcal{L}(X)$ denote the set of all left mappings on an equality algebra X.

Example 3.1. Let $X = \{0, a, b, 1\}$ be a set with the following Hasse diagram.



Then $(X, \wedge, 1)$ is a commutative idempotent integral monoid. We define a binary operation \sim on X by Table 1. Then $(X, \wedge, \sim, 1)$ is an equality algebra, and the

\sim	0	a	b	1
0	1	b	a	0
a	b	1	0	a
b	a	0	1	b
1	0	a	b	1

TABLE 1. Cayley table for the implication " \sim "

implication " \rightarrow " is given by Table 2.

TABLE 2. Cayley table for the implication " \rightarrow "

\rightarrow	0	a	b	1
0	1	1	1	1
a	b	1	b	1
b	a	a	1	1
1	0	a	b	1

Let f_a and f_b be self mappings of X defined by

 $f_a(0) = f_a(b) = b, \quad f_a(a) = f_a(1) = 1$

and

$$f_b(0) = f_b(a) = a, \quad f_b(b) = f_b(1) = 1,$$

respectively. It is routine to verify that f_a and f_b are left mappings on X.

Remark 3.1. It is clear that $f_0(x) = 1$ and $f_1(x) = x$ for all x in a bounded equality algebra X.

Question 1. If f_a is a left mapping on X, then is f_a^2 a left mapping on X?

The following example shows that the answer to the above question is false.

Example 3.2. Let $X = \{0, a, b, c, d, 1\}$ be a set with the following Hasse diagram.



Then $(X, \wedge, 1)$ is a commutative idempotent integral monoid. We define a binary operation \sim on X by Table 3. Then $\mathcal{E} = (X, \wedge, \sim, 1)$ is an equality algebra, and

\sim	0	a	b	С	d	1
0	1	d	d	d	c	0
a	d	1	c	d	c	a
b	d	c	1	d	c	b
c	d	d	d	1	d	c
d	c	c	c	d	1	d
1	0	a	b	С	d	1

TABLE 3. Cayley table for the implication " \sim "

TABLE 4. Cayley table for the implication " \rightarrow "

\rightarrow	0	a	b	С	d	1
0	1	1	1	1	1	1
a	d	1	d	1	1	1
b	d	d	1	1	1	1
c	d	d	d	1	1	1
d	c	c	c	d	1	1
1	0	a	b	c	d	1

the implication " \rightarrow " is given by Table 4. Define a mapping $f_a: X \to X$ by $f_a(0) =$ $f_a(b) = d$ and $f_a(a) = f_a(c) = f_a(d) = f_a(1) = 1$. Then f_a is a left mapping on X, but f_a^2 is not a left mapping on X since

$$d = a \to 0 = f_a(0) \neq f_a^2(0) = a \to (a \to 0) = a \to d = 1.$$

Definition 3.2. An equality algebra X is said to be *positive implicative* if it satisfies

$$(3.1) \qquad (\forall x, y, z \in X)(x \to (y \to z) = (x \to y) \to (x \to z))$$

Theorem 3.1. In a positive implicative equality algebra X, if f_a is a left mapping on X, then so is f_a^2 .

Proof. For any $x \in X$, we have

$$f_a^2(x) = f_a(f_a(x)) = a \to (a \to x) = (a \to a) \to (a \to x) = 1 \to (a \to x) = a \to x.$$

Therefore, f_a^2 is a left mapping on X.

Therefore, f_a^2 is a left mapping on X.

Corollary 3.1. In a positive implicative equality algebra X, if f_a is a left mapping on X for $a \in X$, then so is f_a^n for every $n \in \mathbb{N}$.

Proof. It is by mathematical induction.

Proposition 3.1. Let X be an equality algebra and f_a be a left mapping on X. Then the following statements hold:

(1) $f_a(x) \to f_a(y) \leq f_a(x \to y)$ and the equality is true when X is positive implicative;

(2) the left mapping f_a on X is isotone, that is, if $x \leq y$, then $f_a(x) \leq f_a(y)$;

(3) $x \leq f_a(x) \leq f_a^2(x) \leq \cdots$ and the equality is true when a = 1;

(4) $x \to y \leq f_a^n(x) \to f_a^n(y)$ for any $n \in \mathbb{N}$ and the equality is true when a = 1;

(5) $\operatorname{Im}(f_a^n) \subseteq \cdots \subseteq \operatorname{Im}(f_a^2) \subseteq \operatorname{Im}(f_a);$

(6) $\operatorname{Fix}(f_a) \subseteq \operatorname{Fix}(f_a^2) \subseteq \cdots$, where $\operatorname{Fix}(f_a) := \{x \in X \mid f_a(x) = x\};$

(7) $\ker(f_a) \subseteq \ker(f_a^2) \subseteq \cdots$ and the equality is true when a = 1, where $\ker(f_a) :=$ $\{x \in X \mid f_a(x) = 1\};$

(8) $\operatorname{Fix}(f_a^n) \subseteq \operatorname{Im}(f_a^n)$ for any $n \in \mathbb{N}$ and the equality is true when X is positive *implicative;*

(9) $\operatorname{Fix}(f_a^n) \cap \operatorname{ker}(f_a^n) = \{1\}$ for any $n \in \mathbb{N}$, for all $a, x, y \in X$; (10) if X is an &-equality algebra, then $f_a^2 = f_a$ for any $a \in X$, with $a \odot a = a$.

Proof. Let $a, x, y \in X$. Using (2.1) and (2.6), we have

$$f_a(x) \to f_a(y) = (a \to x) \to (a \to y) \le a \to (x \to y) = f_a(x \to y),$$

which proves (1).

(2) and (3) are straightforward by (2.6) and (2.3), respectively.

(4) Using (2.1) and (2.5), we have $x \to y \leq (a \to x) \to (a \to y) = f_a(x) \to f_a(y)$. Suppose that $x \to y \leq f_a^k(x) \to f_a^k(y)$ for $k \in \mathbb{N}$. Then

$$x \to y \le f_a^k(x) \to f_a^k(y) \le f_a(f_a^k(x)) \to f_a(f_a^k(y)) = f_a^{k+1}(x) \to f_a^{k+1}(y),$$

and so $x \to y \leq f_a^n(x) \to f_a^n(y)$ by mathematical induction. (5) If $y \in \text{Im}(f_a^2)$, then $y = f_a^2(x) = f_a(f_a(x))$ for some $x \in X$ and so $y \in \text{Im}(f_a)$, which shows that $\operatorname{Im}(f_a^2) \subseteq \operatorname{Im}(f_a)$. Repeating this process induces

$$\operatorname{Im}(f_a^n) \subseteq \cdots \subseteq \operatorname{Im}(f_a^2) \subseteq \operatorname{Im}(f_a).$$

By the similar way to the proof of (5), we have (6), (7) and (8).

(9) Let $x \in \text{Fix}(f_a^n) \cap \ker(f_a^n)$. Then $x = f_a^n(x) = 1$. Hence, $\text{Fix}(f_a^n) \cap \ker(f_a^n) = \{1\}$ for any $n \in \mathbb{N}$.

(10) Let $a \in X$ with $a \odot a = a$. Then

$$f_a^2(x) = a \to (a \to x) = (a \odot a) \to x = a \to x = f_a(x),$$

for all $x \in X$ and so $f_a^2 = f_a$.

We pose a question as follows. Given a left mapping f_a on X, is the subset $Fix(f_a)$ of X a filter of X? But the following example shows that the answer is negative.

Example 3.3. Let $Y = \{0, a, b, c, 1\}$ be a set with the following Hasse diagram.



Then $(Y, \wedge, 1)$ is a commutative idempotent integral monoid. We define a binary operation \sim on Y by Table 5. Then $(Y, \wedge, \sim, 1)$ is an equality algebra which is not

\sim	0	a	b	С	1
0	1	0	0	0	0
a	0	1	c	b	a
b	0	c	1	a	b
c	0	b	a	1	c
1	0	a	b	c	1

TABLE 5. Cayley table for the implication " \sim "

commutative, and the implication (\rightarrow) is given by Table 6. We know that the map

TABLE 6. Cayley table for the implication " \rightarrow "

\rightarrow	0	a	b	С	1
0	1	1	1	1	1
a	0	1	b	b	1
b	0	a	1	a	1
c	0	1	1	1	1
1	0	a	b	c	1

 $f_b: Y \to Y$ given by $f_b(0) = 0$, $f_b(a) = f_b(c) = a$ and $f_b(b) = f_b(1) = 1$ is a left mapping on Y. Then $Fix(f_b) = \{0, a, 1\}$, which is not a filter of Y.

Proposition 3.2. Given a left mapping f_a on X, the following statements are equivalent.

- (1) $(\forall x, y \in X)(\forall n \in \mathbb{N}) (y^n \to x = y^{n+1} \to x), where$ $y^n \to x = \underbrace{y \to (y \to \cdots (y}_{n \text{ times}} \to x)).$
- (2) $(\forall n \in \mathbb{N})(\operatorname{Im}(f_a^n) = \operatorname{Fix}(f_a^n)).$ (3) $(\forall n \in \mathbb{N})(f_a^n = f_a^{n+1}).$

Proof. (1) \Rightarrow (2) By Proposition 3.1 (8), we have $\operatorname{Fix}(f_a^n) \subseteq \operatorname{Im}(f_a^n)$. If $y \in \operatorname{Im}(f_a^n)$, then there exists $x \in X$ such that $f_a^n(x) = y$. By (1), we get

$$y = f_a^n(x) = f_a^{n+1}(x) = \dots = f_a^{2n}(x) = f_a^n(f_a^n(x)) = f_a^n(y).$$

Hence, $y \in \operatorname{Fix}(f_a^n)$, and so $\operatorname{Im}(f_a^n) \subseteq \operatorname{Fix}(f_a^n)$. Therefore, $\operatorname{Im}(f_a^n) = \operatorname{Fix}(f_a^n)$. (2) \Rightarrow (1) Let $x, y \in X$. It is clear that $y^n \to x \leq y^{n+1} \to x$. On the other hand,

 $(y^{n+1} \to x) \to (y^n \to x) = f_y^{n+1}(x) \to f_y^n(x) = f_y^n(f_y(x)) \to f_y^n(x).$

Then $f_y(x) \in \text{Im}(f_y^n) = \text{Fix}(f_y^n)$ and so $f_y^n(f_y(x)) = f_y(x)$. Since $f_y(x) \leq f_y^n(x)$, we have

$$(y^{n+1} \to x) \to (y^n \to x) = f_y(x) \to (f_y^n(x)) = 1,$$

and so $(y^{n+1} \to x) \leq (y^n \to x)$. Therefore, $y^n \to x = y^{n+1} \to x$. (1) \Leftrightarrow (3) The proof is clear.

Corollary 3.2. In a positive implicative equality algebra X, the conditions (2) and (3) of Proposition 3.2 are always valid.

Definition 3.3. Let X and Y be equality algebras. A mapping $f : X \to Y$ is called a \rightarrow -homomorphism if $f(a \to x) = f(a) \to f(x)$ for all $a, x \in X$.

By a \rightarrow -endomorphism on X we mean a \rightarrow -homomorphism from X to X. It is clear that the left mapping f_1 on X is a \rightarrow -homomorphism.

Example 3.4. Let X be the equality algebra as in Example 3.1 and Y be the equality algebra as in Example 3.3. We define a mapping $f: X \to Y$ by f(0) = f(b) = 0 and f(a) = f(1) = 1. Then f is a \rightarrow -homomorphism.

Theorem 3.2. Let $(X, \wedge_X, \sim_X, 1_X)$ and $(Y, \wedge_Y, \sim_Y, 1_Y)$ be equality algebras. Then every homomorphism from X to Y is $a \rightarrow$ -homomorphism.

Proof. Let $f: X \to Y$ be a homomorphism. Then

$$f(x \to_X y) = f((x \wedge_X y) \sim_X x)$$

= $f(x \wedge_X y) \sim_Y f(x)$
= $(f(x) \wedge_Y f(y)) \sim_Y f(x)$
= $f(x) \to_Y f(y),$

for all $x, y \in X$. Hence, f is a \rightarrow -homomorphism.

The following example shows that a left mapping is not a \rightarrow -endomorphism.

Example 3.5. The left mapping f_a in Example 3.2 is not a \rightarrow -endomorphism since

$$1 = f_a(c) = f_a(d \to 0) \neq f_a(d) \to f_a(0) = (a \to d) \to (a \to 0) = 1 \to d = d.$$

We provide a condition for a left mapping to be a \rightarrow -endomorphism, and consider a characterization of a positive implicative equality algebra by using the notion of left mapping.

Theorem 3.3. An equality algebra X is a positive implicative if and only if every left mapping on X is $a \rightarrow$ -endomorphism of X.

Proof. Let X be a positive implicative equality algebra and $f_a : X \to X$ be a left mapping on X where $a \in X$. Then

$$f_a(x \to y) = a \to (x \to y) = (a \to x) \to (a \to y) = f_a(x) \to f_a(y),$$

for all $x, y \in X$, and so f_a is a \rightarrow -endomorphism of X.

Conversely, assume that every left mapping on X is a \rightarrow -endomorphism of X. Let f_a be a left mapping on X for each $a \in X$. Then f_a is a \rightarrow -endomorphism of X and so

$$a \to (x \to y) = f_a(x \to y) = f_a(x) \to f_a(y) = (a \to x) \to (a \to y).$$

Therefore, X is a positive implicative equality algebra.

Corollary 3.3. Let f_a be a left mapping on X. If $f_a^2 = f_a$, then f_a is a \rightarrow endomorphism.

Corollary 3.4. If f_a is $a \to \text{-endomorphism on } X$, then $f_a^n = f_a^{n+1}$ for any $n \in \mathbb{N}$.

Theorem 3.4. Let X be an &-equality algebra. Then $\mathcal{L}(X)$ is a commutative monoid under the composition of mappings with the zero element f_1 .

Proof. For any $f_a, f_b, f_c \in \mathcal{L}(X)$, where $a, b, c \in X$, we have

$$(f_a \circ f_b)(x) = f_a(f_b(x)) = f_a(b \to x) = a \to (b \to x) = (a \odot b) \to x = f_{a \odot b}(x),$$

for all $x \in X$. Hence, $\mathcal{L}(X)$ is closed under the operation \circ . Also, we have

$$(f_a \circ (f_b \circ f_c))(x) = f_a(f_{(b \odot c)}(x)) = f_{(a \odot (b \odot c))}(x) = f_{((a \odot b) \odot c)}(x)$$
$$= f_{(a \odot b)} \circ f_c(x) = ((f_a \circ f_b) \circ f_c)(x),$$
$$(f_a \circ f_b)(x) = f_a(b \to x) = a \to (b \to x) = b \to (a \to x) = f_b(a \to x)$$
$$= (f_b \circ f_a)(x),$$

and $(f_a \circ f_1)(x) = f_{a \odot 1}(x) = f_a(x)$ for all $x \in X$. Therefore, $\mathcal{L}(X)$ is a commutative monoid.

Theorem 3.5. In a positive implicative equality algebra X, if f_a is a left mapping on X for $a \in X$, then $\text{Im}(f_a)$, $\text{Fix}(f_a)$ and $\text{ker}(f_a)$ are closed under the operation \rightarrow .

Proof. If $x, y \in \text{Im}(f_a)$, then there exist $u, v \in X$ such that $f_a(u) = x$ and $f_a(v) = y$. It follows that

 $x \to y = f_a(u) \to f_a(v) = (a \to u) \to (a \to v) = a \to (u \to v) = f_a(u \to v) \in \text{Im}(f_a).$ Thus, $\text{Im}(f_a)$ is closed under \to . Let $x, y \in \text{ker}(f_a)$. Then $f_a(x) = 1 = f_a(y)$ and thus

$$f_a(x \to y) = a \to (x \to y) = (a \to x) \to (a \to y) = f_a(x) \to f_a(y) = 1.$$

Hence, $x \to y \in \text{ker}(f_a)$ and so $\text{ker}(f_a)$ is closed under \to . Let $x, y \in \text{Fix}(f_a)$. Then $f_a(x) = x$ and $f_a(y) = y$. Thus,

$$x \to y = f_a(x) \to f_a(y) = (a \to x) \to (a \to y) = a \to (x \to y) = f_a(x \to y),$$

and so $x \to y \in \operatorname{Fix}(f_a)$. Hence, $\operatorname{Fix}(f_a)$ is closed under \to .

Using mathematical induction, we have the following corollary.

Corollary 3.5. In a positive implicative equality algebra X, if f_a is a left mapping on X for $a \in X$, then $\text{Im}(f_a^n)$, $\text{Fix}(f_a^n)$ and $\text{ker}(f_a^n)$ are closed under the operation \rightarrow for all $n \in \mathbb{N}$. We define an order " \leq " and equality "=" on $\mathcal{L}(X)$ as follows.

$$f_a \leq f_b \Leftrightarrow f_a(x) \leq f_b(x) \text{ for all } x \in X,$$

$$f_a = f_b \Leftrightarrow f_a \leq f_b \& f_b \leq f_a,$$

for all $f_a, f_b \in \mathcal{L}(X)$.

Proposition 3.3. If X is a positive implicative equality algebra, then the following assertions are true in $\mathcal{L}(X)$:

(1) $f_a \circ f_b = f_b \circ f_a;$ (2) $f_a \circ f_a = f_a;$ (3) $f_1 \circ f_a = f_a = f_a \circ f_1;$ (4) $a \le b \Rightarrow f_b \le f_a, f_a \circ f_b = f_a.$

Proof. (1) Let $a, b, x \in X$. Then by (2.1), it is clear that

$$f_a \circ f_b(x) = f_a(f_b(x)) = a \to (b \to x) = b \to (a \to x) = f_b(f_a(x)) = f_b \circ f_a(x).$$

(2) Let $a, x \in X$. Since X is a positive equality algebra, we get that

Let
$$a, x \in X$$
. Since X is a positive equality algebra, we get that

$$f_a \circ f_a(x) = f_a(f_a(x)) = a \to (a \to x) = a \to x = f_a(x).$$

(3) The proof is clear.

(4) Let $a, b \in X$ such that $a \leq b$. Then for any $x \in X$, by (2.6), we get $f_b(x) =$ $b \to x \leq a \to x = f_a(x)$. Moreover, since X is positive implicative, we have

 $f_a \circ f_b(x) = a \to (b \to x) = (a \to b) \to (a \to x) = 1 \to (a \to x) = a \to x = f_a.$

This completes the proof.

Let $\operatorname{End}_{\rightarrow}(X)$ denote the set of all left mappings on X which is a \rightarrow -homomorphism, that is,

$$\operatorname{End}_{\to}(X) = \{ f_a \in \mathcal{L}(X) \mid f_a \text{ is } a \to \operatorname{homomorphism} \}.$$

Theorem 3.6. If X is a positive implicative &-equality algebra, then $(End_{\rightarrow}(X), \circ)$ is a commutative semigroup with the zero element f_1 .

Proof. Let $x \in X$. Since X is an &-equality algebra, we get

$$(f_a \circ f_b)(x) = a \to (b \to x) = (a \odot b) \to x = f_{a \odot b}(x)$$

and so, $f_{a \odot b}(x) \in \mathcal{L}(X)$. Since X is a positive implicative equality algebra, we have

$$(f_a \circ f_b)(x \to y) = f_{a \odot b}(x \to y) = (a \odot b) \to (x \to y)$$
$$= ((a \odot b) \to x) \to ((a \odot b) \to y)$$
$$= (f_a \circ f_b)(x) \to (f_a \circ f_b)(y).$$

Let $f_a, f_b, f_c \in \text{End}_{\to}(X)$. Since X is an &-equality algebra, we have

$$(f_a \circ (f_b \circ f_c))(x) = f_{a \odot (b \odot c)}(x) = f_{(a \odot b) \odot c}(x) = ((f_a \circ f_b) \circ f_c)(x)$$

Also $f_a \circ f_b = f_b \circ f_a$ and $f_a \circ f_1 = f_1$ by Proposition 3.3. Therefore, $(\text{End}_{\rightarrow}(X), \circ)$ is a commutative semigroup with the zero element f_1 .

4. Right Mappings

In this section, we introduce the notion of right mapping and investigate some properties of it. Also, we prove that kernel of g_a^2 is a filter of X. Finally we show that the set of all right mappings on positive implicative equality algebra is a dual BCK-algebra.

Definition 4.1. Given a fixed element a in an equality algebra X, we define a self-mapping g_a of X by

$$(4.1) g_a: X \to X, \quad x \mapsto x \to a,$$

and we say that g_a is a *right mapping* on X.

Let $\mathcal{R}(X)$ denote the set of all right mappings on an equality algebra X.

Example 4.1. Let X be the equality algebra as in Example 3.1. Then define a self mapping $g_a: X \to X$ by $g_a(0) = g_a(a) = 1$ and $g_a(b) = g_a(1) = a$. It is routine to verify that g_a is a right mapping on X.

Proposition 4.1. Every right mapping g_{β} on X, where β is any element of X, satisfies the following conditions:

- (1) $(\forall a \in X)(g_a(a) = 1, g_a(1) = a);$
- (2) $(\forall a, b \in X)(g_a(1) \leq g_a(b));$
- (3) If X is bounded, then $g_a(0) = 1$ and $g_0(a) = \neg a$ for all $a \in X$;
- (4) $(\forall x \in X)(q_1(x) = 1);$
- (5) $(\forall a, x, y \in X)(x \le y \Rightarrow g_a(y) \le g_a(x)).$

Proof. Straightforward.

Proposition 4.2. For any right mapping g_{β} on X where β is any element of X, we have the following assertions.

- (1) If X is a commutative equality algebra, then $g_a^2(x) = g_x^2(a)$ for all $x, a \in X$.
- (2) For any natural number $n \in \mathbb{N}$ and $a \in X$, we have

$$g_a^n = \begin{cases} g_a & n \text{ is odd,} \\ g_a^2 & n \text{ is even.} \end{cases}$$

- $\begin{array}{ll} (3) \ g_a^2(x) \to g_a(y) = g_a^2(y) \to g_a(x) \ for \ any \ a, x, y \in X. \\ (4) \ y \to g_a^2(x) = g_a(x) \to g_a(y) \ and \ g_a^2(x) \to g_a^2(y) = x \to g_a^2(y) \ for \ any \ a, x, y \in X. \end{array}$
- (5) $g_a^2(x) = 1$ if and only if $f_x(a) = a$, where f_x is a left mapping on X.
- (6) The mapping g_a^2 is isotone.

Proof. (1) Since X is a commutative equality algebra, we have

$$g_a^2(x) = (x \to a) \to a = (a \to x) \to x = g_x^2(a),$$

for all $a, x \in X$.

(2) Let $x, a \in X$ and $n \in \mathbb{N}$. Suppose n = 4. Then

 $g_a^4(x) = (((x \to a) \to a) \to a) \to a = (x \to a) \to a = g_a^2(x),$

by (2.7). By the similar way, we can prove that $g_a^n(x) = g_a^2(x)$ for any even number $n \in \mathbb{N}$. Now, if n = 3, then

$$g_a^3(x) = ((x \to a) \to a) \to a = x \to a = g_a(x),$$

by (2.7). By the similar way, we can prove that $g_a^n(x) = g_a(x)$ for any odd number $n \in \mathbb{N}$.

(3) Let $a, x, y \in X$. Then

$$g_a^2(x) \to g_a(y) = ((x \to a) \to a) \to (y \to a)$$
$$= y \to (((x \to a) \to a) \to a)$$
$$= y \to (x \to a)$$
$$= y \to q_a(x),$$

by (2.7). By the similar way, we can prove that $g_a^2(y) \to g_a(x) = y \to g_a(x)$. Hence, $g_a^2(x) \to g_a(y) = g_a^2(y) \to g_a(x).$

(4) Let $x, y, a \in X$. Then

$$y \to g_a^2(x) = y \to ((x \to a) \to a) = (x \to a) \to (y \to a) = g_a(x) \to g_a(y),$$

by (2.7). Also, we have

$$g_a^2(x) \to g_a^2(y) = ((x \to a) \to a) \to ((y \to a) \to a)$$
$$= (y \to a) \to (((x \to a) \to a) \to a)$$
$$= (y \to a) \to (x \to a)$$
$$= g_a(y) \to g_a(x) = x \to g_a^2(y).$$

(5) and (6) are straightforward.

Theorem 4.1. For any right mapping g_a on X, the following are equivalent.

- (1) g_a^2 is a \rightarrow -endomorphism. (2) $g_a^2(x \rightarrow y) = x \rightarrow g_a^2(y)$ for all $x, y \in X$. (3) $g_a^2(x \rightarrow y) = g_a(y) \rightarrow g_a(x)$ for all $x, y \in X$.

Proof. (1) \Rightarrow (2). Let g_a^2 be a \rightarrow -endomorphism and $x, y \in X$. Then

$$\begin{split} g_a^2(x \to y) &= g_a^2(x) \to g_a^2(y) \\ &= ((x \to a) \to a) \to ((y \to a) \to a) \\ &= (y \to a) \to (((x \to a) \to a) \to a) \\ &= (y \to a) \to (x \to a) \\ &= x \to ((y \to a) \to a) \\ &= x \to g_a^2(y), \end{split}$$

by (2.7).

(2)
$$\Rightarrow$$
 (3). For any $x, y \in X$ we have
 $g_a^2(x \to y) = x \to g_a^2(y) = x \to ((y \to a) \to a) = (y \to a) \to (x \to a)$
 $= g_a(y) \to g_a(x),$

by (2).

 $(3) \Rightarrow (1)$. For any $a, x, y \in X$ we have

$$g_a^2(x) \to g_a^2(y) = ((x \to a) \to a) \to ((y \to a) \to a)$$
$$= (y \to a) \to (((x \to a) \to a) \to a)$$
$$= (y \to a) \to (x \to a)$$
$$= g_a(y) \to g_a(x)$$
$$= g_a^2(x \to y),$$

by (2.7) and (3). Therefore, g_a^2 is a \rightarrow -endomorphism on X.

Theorem 4.2. For any right mapping g_a on X, the following are equivalent.

- (1) g_a^2 is an identity map.
- (2) g_a is an injective map.
- (3) q_a is a surjective map.

Proof. (1) \Rightarrow (2). Let g_a^2 be an identity map. Let $x, y \in X$ be such that $g_a(x) = g_a(y)$. Then $x \to a = y \to a$ and so

$$x = g_a^2(x) = (x \to a) \to a = (y \to a) \to a = g_a^2(y) = y.$$

Hence, g_a is an injective map on X.

 $(2) \Rightarrow (3)$. For any $x, y \in X$, we have $g_a((x \to a) \to a) = g_a(x)$ by (2.7). Since g_a is an injective map on X, it follows that $(x \to a) \to a = x$. Moreover, we know that $\operatorname{Im}(g_a) \subseteq X$. Let $y \in X$. Then $g_a(y \to a) = (y \to a) \to a = y$ and so $y \in \operatorname{Im}(g_a)$. Hence, $X = \text{Im}(g_a)$. Therefore, g_a is a surjective map on X.

 $(3) \Rightarrow (1)$. Using (2.4), we have $x \leq (x \to a) \to a = g_a^2(x)$ for any $x \in X$. Since g_a is a surjective map, for any $y \in X$, there exists $x \in X$ such that $g_a(x) = y$, i.e., $x \to a = y$. It follows from (2.1) and (2.7) that

$$g_a^2(y) \to y = ((y \to a) \to a) \to (x \to a) = x \to (y \to a) = y \to y = 1,$$

that is, $g_a^2(y) \leq y$ for all $y \in X$. Hence, $g_a^2(y) = y$ for all $y \in X$ and therefore g_a^2 is an identity map.

Corollary 4.1. For any right mapping g_{β} on X where β is any element of X, the following are equivalent.

- (1) g_a^2 is an injective map for all $a \in X$. (2) g_a^2 is an identity map for all $a \in X$. (3) g_a^2 is a surjective map for all $a \in X$.

Proof. By Theorem 4.2 and Proposition 4.2 (2), the proof is clear.

Theorem 4.3. For any right map g_a on X, the set $ker(g_a^2) = \{x \in X \mid g_a^2(x) = 1\}$ is a filter of X.

Proof. Let $a \in X$. Since $g_a^2(1) = (1 \to a) \to a = a \to a = 1$, we get that $1 \in \ker(g_a^2)$. Let $x, y \in X$ be such that $x, x \to y \in \ker(g_a^2)$. Then $g_a^2(x) = g_a^2(x \to y) = 1$. It follows from (2.1), (2.5) and (2.7) that

$$\begin{split} g_a^2(y) &= (y \to a) \to a \\ &= 1 \to ((y \to a) \to a) \\ &= (((x \to y) \to a) \to a) \to (((y \to a) \to a)) \\ &= (y \to a) \to ((((x \to y) \to a) \to a) \to a) \\ &= (y \to a) \to (((x \to y) \to a)) \\ &= (x \to y) \to (((y \to a) \to a)) \\ &= (x \to y) \to (1 \to ((y \to a) \to a))) \\ &= (x \to y) \to (((x \to a) \to a) \to (((y \to a) \to a))) \\ &= (x \to y) \to (((y \to a) \to a) \to (((x \to a) \to a) \to a)) \\ &= (x \to y) \to ((y \to a) \to (((x \to a) \to a))) \\ &= (x \to y) \to (x \to ((y \to a) \to a)) \\ &= (y \to a) \to (y \to a) \\ &= 1 \end{split}$$

Hence, $g_a^2(y) = 1$, and so $y \in \ker(g_a^2)$. Therefore, $\ker(g_a^2)$ is a filter of X.

Corollary 4.2. For any right map g_a^{2k} on X, the set ker (g_a^{2k}) is a filter of X, where k is any natural number.

Proposition 4.3. Let g_β be a right mapping on X where β is any element of X. If F and G are filters of X such that $F \cap G = \{1\}$, then $g_x^2(y) = g_y^2(x) = 1$ for all $x \in F$ and $y \in G$.

Proof. Let F and G be filters of X such that $F \cap G = \{1\}$. Suppose $x \in F$ and $y \in G$. Since $x \leq (x \to y) \to y$ and $y \leq (x \to y) \to y$ by (2.1), (2.2) and (2.4), we have $(x \to y) \to y \in F \cap G = \{1\}$ and so $g_y^2(x) = (x \to y) \to y = 1$. By the similar way we can prove that $g_x^2(y) = 1$.

Let X be a positive implicative equality algebra. We define the implication " \hookrightarrow " on $\mathcal{R}(X)$ as follows:

$$\hookrightarrow: \mathfrak{R}(X) \times \mathfrak{R}(X) \to \mathfrak{R}(X), \quad (g_a, g_b) \mapsto g_a(x) \to g_b(x).$$

Using the positive implicativity of X, we have

$$(g_a \hookrightarrow g_b)(x) = g_a(x) \to g_b(x) = (x \to a) \to (x \to b) = x \to (a \to b) = g_{a \to b}(x),$$

and so $g_a \to g_b \in \mathcal{R}(X)$.

Theorem 4.4. If X is a positive implicative equality algebra, then $(\mathcal{R}(X), \hookrightarrow, g_1)$ is a dual BCK-algebra (see [3] for the notion of dual BCK-algebra).

Proof. Let $g_a, g_b, g_c \in \mathcal{R}(X)$. Then

$$\begin{aligned} & ((g_b \hookrightarrow g_c) \hookrightarrow ((g_c \hookrightarrow g_a) \hookrightarrow (g_b \hookrightarrow g_a)))(x) \\ &= (g_b(x) \to g_c(x)) \to ((g_c(x) \to g_a(x)) \to (g_b(x) \to g_a(x))) \\ &= ((x \to b) \to (x \to c)) \to (((x \to c) \to (x \to a)) \to ((x \to b) \to (x \to a))) \\ &= (x \to (b \to c)) \to ((x \to (c \to a)) \to (x \to (b \to a))) \\ &= (x \to (b \to c)) \to (x \to ((c \to a) \to (b \to a))) \\ &= x \to ((b \to c) \to ((c \to a) \to (b \to a))) \\ &= x \to 1 = g_1(x) \end{aligned}$$

and

$$(g_b \hookrightarrow ((g_b \hookrightarrow g_a) \hookrightarrow g_a))(x) = g_b(x) \to ((g_b(x) \to g_a(x)) \to g_a(x)))$$

=(x \rightarrow b) \rightarrow (((x \rightarrow b) \rightarrow (x \rightarrow a))) \rightarrow (x \rightarrow a))
=(x \rightarrow b) \rightarrow ((x \rightarrow (b \rightarrow a))) \rightarrow (x \rightarrow a))
=(x \rightarrow b) \rightarrow ((b \rightarrow a) \rightarrow a))
=x \rightarrow ((b \rightarrow a) \rightarrow a))
=x \rightarrow ((b \rightarrow a)) \rightarrow (b \rightarrow a))
=x \rightarrow 1 = g_1(x),

for all $x \in X$ by (2.1), (2.2), (2.5) and (3.1). Thus,

$$g_b \hookrightarrow g_c) \hookrightarrow ((g_c \hookrightarrow g_a) \hookrightarrow (g_b \hookrightarrow g_a)) = g_1$$

 $(g_b \hookrightarrow g_c) \hookrightarrow ((g_c \hookrightarrow g_a)$ and $g_b \hookrightarrow ((g_b \hookrightarrow g_a) \hookrightarrow g_a) = g_1$. Since

$$(g_a \hookrightarrow g_a)(x) = g_a(x) \to g_a(x) = (x \to a) \to (x \to a) = 1 = x \to 1 = g_1(x)$$

and

$$(g_a \hookrightarrow g_1)(x) = g_a(x) \to g_1(x) = (x \to a) \to (x \to 1)$$
$$= x \to (a \to 1) = x \to 1 = g_1(x),$$

for all $x \in X$, we have $g_a \hookrightarrow g_a = g_1$ and $g_a \hookrightarrow g_1 = g_1$. Assume that $g_a \to g_b = g_1$ and $g_b \to g_a = g_1$. Then

$$(x \to a) \to (x \to b) = g_a(x) \to g_b(x) = (g_a \hookrightarrow g_b)(x) = g_1(x) = x \to 1 = 1$$

and

$$(x \to b) \to (x \to a) = g_b(x) \to g_a(x) = (g_b \hookrightarrow g_a)(x) = g_1(x) = x \to 1 = 1$$

for all $x \in X$. It follows that $g_a(x) = x \to a = x \to b = g_b(x)$ for all $x \in X$. Hence, $g_a = g_b$. Therefore, $(\mathcal{R}(X), \hookrightarrow, g_1)$ is a dual BCK-algebra.

Define an order " \leq " on $\mathcal{R}(X)$ as follows:

 $(\forall g_a, g_b \in \mathcal{R}(X))(g_a \leq g_b \Leftrightarrow (g_a \hookrightarrow g_b)(x) = g_1(x) \text{ for all } x \in X.$

It is clear that if X is a positive implicative equality algebra, then $(\mathcal{R}(X), \leq)$ is a partially ordered set.

Proposition 4.4. If X is a positive implicative equality algebra, then the following assertions are true in $\mathcal{R}(X)$:

 $\begin{array}{ll} (1) \ g_a \hookrightarrow g_b \leq (g_b \hookrightarrow g_c) \hookrightarrow (g_a \hookrightarrow g_c); \\ (2) \ g_a \leq (g_a \hookrightarrow g_b) \hookrightarrow g_b; \\ (3) \ g_a \leq g_a; \\ (4) \ g_a \leq g_b \ and \ g_b \leq g_a \ imply \ g_a = g_b; \\ (5) \ g_a \leq g_1; \\ (6) \ f_a \leq f_b \Rightarrow f_b \hookrightarrow f_c \leq f_a \hookrightarrow f_c, \ f_c \hookrightarrow f_a \leq f_c \hookrightarrow f_b; \\ (7) \ f_a \hookrightarrow (f_b \hookrightarrow f_c) = f_b \hookrightarrow (f_a \hookrightarrow f_c); \\ (8) \ f_a \leq f_b \hookrightarrow f_c \Rightarrow f_b \leq f_a \hookrightarrow f_c; \\ (9) \ f_a \hookrightarrow f_b \leq (f_c \hookrightarrow f_a) \hookrightarrow (f_c \hookrightarrow f_b); \\ (10) \ f_a \leq f_b \hookrightarrow f_a. \end{array}$

Proof. It is easy by routine calculations.

5. Conclusions and Future Works

In this paper, the notion of (right) left mapping on equality algebras is introduced, some properties of it are investigated and it is proved that the set of all right mappings on positive implicative equality algebra makes a dual BCK-algebra. Also, we studied that under which condition the kernel of (right) left mapping is a filter. The notion of \rightarrow -endomorphism is introduced and it is proved that the set of all \rightarrow -endomorphisms on equality algebra is a commutative semigroup with zero element. Moreover, the relation between left mapping and \rightarrow -endomorphism and a characterization of positive implicative equality algebra are investigated.

In future work, by using the notion of (right) left mapping on equality algeras and the set of fixed point of that, we can introduce the notion of (right) left stabilizer on equality algebra and by using this notion we can define a basis of a topology on equality algebra. Also, we can introduce the notion of derivation on equality algebra and extend it.

Acknowledgments.

The authors are very indebted to the editor and anonymous referees for their careful reading and valuable suggestions which helped to improve the readability of the paper.

This research is supported by a grant of National Natural Science Foundation of China (11971384).

References

- [1] M. Aaly Kologani, R. A. Borzooei, G. R. Rezaei and Y. B. Jun, *Commutative equality algebras and &-equality algebras*, An. Univ. Craiova Ser. Mat. Inform. (to appear).
- [2] R. A. Borzooei and M. Aaly Kologani, Stabilizer topology of hoops, Algebraic Structures and their Applications 1(1) (2014), 35–48.
- [3] R. A. Borzooei and S. Khosravi Shoar, Implication algebras are equivalent to the dual implicative BCK-algebras, Sci. Math. Jpn. (2006), 371–373.
- [4] H. Hail Suwayhi, A. Baker and I. M. Mohd, On m-derivation of BCI-algebras with special ideals in BCK-algebras, International Journal of Scientific and Research Publications 9(3) (2019), 14–18.
- [5] L. Henkin, Completeness in the theory of types, J. Symb. Log. 15 (1950), 81–91.
- [6] A. Iampan, Derivations of UP-algebras by means of UP-endomorphism, Algebraic Structures and their Applications 3(2) (2016), 1–20.
- [7] S. Jenei, Equality algebras, in: Proceeding of 11th International Symposium on Computational Intelligence and Informatics (CINTI), 2010, Budapest, Hungary.
- [8] S. Jenei, Equality algebras, Studia Log. 100 (2012), 1201–1209.
- [9] S. Jenei and L. Kóródi, On the variety of equality algebras, Fuzzy Log. Tech. (2011), 153–155.
- [10] L. Kamali Ardekani and B. Davvaz, f-derivations and (f,g)-derivation of MV-algebras, J. Algebr. Syst. 1(1) (2013), 11–31.
- [11] M. Kondo, Some properties of left maps in BCK-algebras, Math. Japonica. 36 (1991), 173–174.
- [12] V. Novák, On fuzzy type theory, Fuzzy Sets and Systems 149 (2005), 235–273.
- [13] V. Novák and B. De Baets, *EQ-algebras*, Fuzzy Sets and Systems **160**(20) (2009), 2956–2978.
- [14] F. Zebardast, R. A. Borzooei and M. Aaly Kologani, *Results on equality algebras*, Inform. Sci. 381 (2017), 270–282.

¹DEPARTMENT OF MATHEMATICS, SHAHID BEHESHTI UNIVERSITY, THEHRAN, IRAN *Email address:* mona4011@gmail.com

²DEPARTMENT OF MATHEMATICS, SHAHID BEHESHTI UNIVERSITY, TEHRAN, IRAN *Email address*: mohammad.mohseni11220gmail.com

³DEPARTMENT OF MATHEMATICS, SHAHID BEHESHTI UNIVERSITY, TEHRAN, IRAN *Email address:* borzooei@sbu.ac.ir

⁴DEPARTMENT OF MATHEMATICS EDUCATION, GYEONGSANG NATIONAL UNIVERSITY, JINJU 52828, KOREA Email address: skywine@gmail.com